i [Ethanolamine (HOC,HsNH,, K,=2.5 x 10~ ) 1s a weak base with the conjugate acid,
HOC,HsNH;". A 20.0-mL sample of a 0.40 M solution of ethanolamine is titrated with a

0.25 M solution of HCI. gép&t I 5O - Ka = 9,40
A) W hat is the pH of the ethanolamme solution before the addition of any HCI.
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B) What is the pH at the mtdpotnt of the tltratlon?
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C) What is the pH of the solutlon after the addltlon of 20 O mL of HCI solution?
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. Ethylendiamine (NH,CH,CH,NH,) is a dibasic amine. A 25.0 mL sample of the base is
titrated with a 0.108 M of HCI and 17.53 mL of the 8ase-is required to reach the equivalence
point. acid

A. What is the concentration of ethylenediamine in the sample?
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B. What will be the pH of the solution at the equivalence point? The K, values of N
ethylenediamine can be found in the appendix of your book.
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